NEED

MATERIAL DESCRIPTION \LP PR CODRALP MATERIAL CODE| NEED DATE | QUANTITY
(PCS)
HELICOIL DIN8140 M8X8-A4 683974 | 4700 00 000 0291 ASAP 280
HELICOIL DIN8140 M3X4.5-A4 683975 | 4700 00 000 0300 ASAP 516
HELICOIL DIN8140 M4X6.8-A4 683976 | 4700 00 000 0292 ASAP 120
HELICOIL DIN8140 M3X6-A4 683977 | 4700 00 000 0299 ASAP 11
HELICOIL DIN8140 M5X7-A4 683978 | 4700 00 000 0293 ASAP 175
HELICOIL DIN8140 M3X3-A4 683979 | 4700 00 000 0297 ASAP 181
HELICOIL DIN8140 M4X4-A4 683980 | 4700 00 000 0295 ASAP 137
HELICOIL DIN8140 M5X7.5-A4 683981 | 4700 00 000 0296 ASAP 254
HELICOIL DIN8140 M5X5-A4 683982 | 4700 00 000 0298 ASAP 72
HELICOIL DIN8140 M2X5-A4 683983 | 4700 00 000 0301 ASAP 6
HELICOIL DIN8140 M6X6-A4 683984 | 4700 00 000 0294 ASAP 24
HELICOIL DIN8140 M3X6.5-A4 683985 | 4700 00 000 0303 ASAP 10
HELICOIL DIN8140 M3X8-A4 683986 | 4700 00 000 0302 ASAP 40
HELICOIL DIN8140 M2X3-A4 689209 | 4700 00 000 0305 ASAP 50
HELICOIL DIN8140 M4X8.7-A4 689210 | 4700 00 000 0304 ASAP 10
HELICOIL DIN8140 M4X6-A4 689211 | 4700 00 000 0306 ASAP 80
HELICOIL DIN 8140 M12X18-A4 689217 | 4700 00 000 0307 ASAP 2
DIN8140 M4X4.5-A3 693324 |4700 00 000 0308 ASAP 30




